


№ 242(в,г,ж,з)

в) 340 · 7 + 16 · 70 = 340 · 7 + 16 · 7 · 10 = 

= 7 · (340 + 160) = 7 · 500 = 3500

г) 250 · 61 – 25 · 390 = 250 · 61 – 25· 10 · 39 = 

= 250 · (61 – 39) = 250 · 22 = 5500 

ж) 73 000 

з) 15 000 



№ 244

а) 17m + 5m = 22m 

24b + 2a б) 24b + 7a – 5a = 

в) 6a –  a = 1 5a 

г) y – 8 = упростить нельзя 



№ 244

7c 

5 + 10n е) 5 + 12n – 2n = 

д) 9c + 4c – 6c = 



№ 249(а,в)

а) 15x – 8x = 21

7x = 21
7 · x = 21

x = 21 : 7
x = 3

Ответ:  3



№ 249(а,в)

в) 4y + 2y –  y = 20

5y = 20

y = 20 : 5

y = 4

Ответ:  4
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*

К л а с с н а я    р а б о т а.

*

К л а с с н а я    р а б о т а.



Математику 
уже         затем 
надо       учить, 
что    она     ум 

в порядок 
приводит

16a
6y

25611b

13x
36

169

121№ 247



Ломоносов 
Михаил 

Васильевич 



Упростите выражение:

а) 15a · 3 = 

№ 245

15 · a · 3 = (15 · 3) · a = 

= 45a 

б) 5a · 6b = 5 · a · 6 · b = 

= (5 · 6) · a · b = 30ab 



Учебник:  № 246;

                            248;

                            249(б,г).

 


